Q1) ( 4 points)

prlet i=<2,4,-1>, §=<3,2,5>. Find proj,o.  |¥}= m = 3
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l5(;23) ( 4 points) Identify and sketch the following surfaces
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Q4) (7 points) Consider the points A(1,3,4), B(3,2, —2), C(2,2,1) and D(2, 5, 6).
Find the area of the triangle ABC.
&Y Find the equation of the Plane that contains the points A, B and C.

T
etermine whether the points A, B, C and D lie on the same plane.
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Q5) (6 points) Consider the line L: £ =2+43t, y=1+4t, z =5—2{ and the
plane P: 3x —y+4z=2. -n%)(—-‘-ﬁ%;-\{}} -2 =h
Show that the line L is parallel to the plane P.
/\) ) Find the distance between the line L and the plane P.
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a@‘ Q6) (7 points) Consider the two planes P;: 2x —y — 2z = 1 and Pp: 4x —
E_U (/ 2y — 4z = 20. Let S be a sphere between the two planes that touches the
()J_ - Li;ine P; at the point A(2,1,1) and touches the plane P, at the onint 5.
Show that the two planes are parallel. e G . d
/b)Y Find the point B. s A ) e P i
Find the equation of the sphere S. '
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